Penthouse in Attard



Reference No: 240461048-191

Attard, Central



€521,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): **130**

Bedrooms: 2

Penthouse - For Sale - Attard

ATTARD - PENTHOUSE - This Penthouse enjoys a prime location in a serene residential neighborhood in Attard. The layout features an Open-Plan Kitchen, Dining, and Living area, 2 double Bedrooms with the master bedroom boasting an en suite and a walk-in wardrobe, a main Bathroom, and a Laundry room. The property is offered as a freehold and can be purchased in a finished state, excluding doors. Airspace included. For further information, please reach out to your chosen real estate agent.

Features

- ✓ Lift
- En Suite
- ✓ Water Utility
- Soffit Ceilings
- Skirting
- Terrace
- Balcony

- Ceramic Floor
- Entrance Hall
- Electricity Utility
- PVC Piping
- Double Glazed
- Air Space

Rooms

- Kitchen/Living/Dining: 7.72 x 6.49 m (50.1 m2)
- Double Bedroom: 3.51 x 3.62 m (12.71 m2)
- Double Bedroom: 4.33 x 3.62 m (15.67 m2)
- Walk In Wardrobe : 2.73 x 2.47 m (6.74 m2)
- Laundry: 2.16 x 1.66 m (3.59 m2)
- ✓ Bathroom : 2.45 x 1.75 m (4.29 m2)
- Shower Ensuite : 2.73 x 1.4 m (3.82 m2)
- Open Space : 6.49 x 4.27 m (27.71 m2)
- Open Space : 5.53 x 1 m (5.53 m2)

Gallery













Josianne Camilleri RE/MAX Professionals - Mosta

M: 79050767

E: jcamilleri@remax.com.mt

T: 22265300

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta